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QUESTION 1

Which NSX feature can configure a network capable of routing traffic between multiple VLANs without a Layer 3 switch
or physical router?

A. Site-to-Site and remote-access VPN capabilities.

B. Dynamic routing between virtual networks performed in the hypervisor.
C. Distributed stateful firewalling embedded in the hypervisor kernel.

D. Layer 4-7 load balancer with SSL offload and pass-through.

Correct Answer: B

DLR - Distributed Logical Router, performs routing

References: http://blog.bertello.org/2015/02/nsx-for-newbies-part-6-distributed-logical-router-dir/

QUESTION 2

Which server sits in the DMZ and allows external devices to connect to the Horizon Mirage service?
A. Mirage Server

B. Mirage Branch Reflector

C. Mirage Management Server

D. Mirage Gateway Server

Correct Answer: D

Reference: https://blogs.vmware.com/consulting/tag/horizon-mirage

QUESTION 3

Which two statements about VMware Cross-Cloud Architecture are true? (Choose two.)
A. Deployment of services across clouds is manual.

B. Works only on certain underlying clouds or hypervisors.

C. Provides the ability to run, manage, connect and secure applications across clouds.
D. Provides cloud freedom, but not control.

E. Provides the freedom to innovate across both private clouds and public clouds.

Correct Answer: CE
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QUESTION 4

Which feature of VMware vSphere will automate the process of migrating virtual machines to fewer hosts during times of
low workloads?

A FT

B. EVC

C.DPM

D. HA

Correct Answer: C

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/Distributed-Power-
Management-vSphere.pdf (p. 3)

QUESTION 5

Which VMware solution provides the highest availability?
A. VMware Update Manager

B. Vmware vMotion

C. VMware vCenter HA

D. VMware DRS

Correct Answer: C
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